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You receive a large data file that contains large object data values that need to be copied into a table in
the shortest amount of time possible. Which utility should be used?

Response:

A.LOAD
B.INGEST
C.IMPORT
D.TRANSPORT

Answer: A

Which operation can be performed with trusted context privileges that are acquired through a role?

Response:

A.DML operations

B.DDL operations

C.Server maintenance operations
D.Security administration operations

Answer: A

Which of the following is a best choice to load data in real-time with high concurrency?
Response:

A.Load

B.Import

C.Ingest
D.db2move
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Answer: C

What does dsmtop use to gather metrics?
Response:

A.db2pd

B.db2dart

C.the system catalog
D.monitoring table functions

Answer: D

Where does the DB2 Problem Determination tool (db2pd) get information from?
Response:

A.DB2memory sets

B.the db2diag.log file

C.Monitoring table functions

D.A set of pre-defined event monitors

Answer: A

Automatic space reclamation for column-organized tables can be accomplished in which of the following
scenarios?

Response:
A.When the registry variableDB2_AUTORECLAIMSPACE=YES
B.After termination all the back-end processes using TERMINATE command

C.After setting the database configuration parameter AUTO_DEL_REC_OBJ to ON
D.When the registry variable DB2_WORKLOAD=ANALYTICS prior to database creation
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Answer: D

For any given column-organized user table, the associated synopsis table may contain information for
which of the following data types?
(Choose two.)

Response:

A XML
B.BLOB
C.CLOB
D.VARCHAR
E.DATETIME

Answer: DE

Which data types are only valid when DB2_COMPATIBILITY_VECTOR=0RA?
(Choose two.)

Response:

A XML
B.REAL
C.NUMBER
D.VRCHAR?2
E.VARBINARY

Answer: CD

Which two of the following functions of DB2 Workload Manager are restricted by license?
(Choose two.)
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Response:

A.Creating, using, or altering thresholds

B.Granting, altering, or revoking workload privileges

C.Using or altering the default service classes and workloads
D.Creating service classes, service subclasses, and workloads

E.Creating, activating, stopping or dropping workload management event monitors

Answer: AD

Which of the following security-label components can you use with LBAC?
(Choose two.)

Response:

A.Array

B.Tree

C.Forest

D.Range
E.DB2SECURITYLABEL

Answer: AB
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